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Q.P. Code 100887

[Time: 2:Hours)

[ Marks:75]
Please check whether

you have got the right question paper,
N.B: 1. Al Questions ara compuisary,
2. InQ.1 attempt both the sub- parts A and B
3. Figures to the right indicate marks =l

4. Use of non-programmab
5. Graph Paper will be pro

Fill in the blanks with the correct alternative(a ftempt any eight) (08)
The average that is affected by sampiing fluctuations Lo i
( mean, median, mode) '

le calculator is allowed.
vided on request.

When two or more characteristics are 't be ﬁe;}res\ented*éjmuﬂaneausm
isubfdivided, simple, multipla)

When the data is classified wj
(Guantitative, geographical, ¢
Ifthe sample points of two
events are callag

(exha ustive, Mutually ex

bar disgram is used.

th referen.c-_e_ tc:-'tﬁng_ it is called

e I classifica tion,
hronological)

events taken together constityte the sample space of an ex
avents.

periment, then such
clusivey d_ep-_:*r;_c#&m_}

criterion we choose th
(Maximum, Laplace, Maximay)

Variat_ie_@ﬁécur-due‘ te weather or customs,
(cyclical, Irreg, Har, Seasonal

'SSion equation of price on demand
nit, discrets)

isused, price js the variable,

when calculated from median,

(@7}

Varian ce is the square

The coefficient of correlation is always positive,
Median can be located Braphic: '

lled current vear,
st the minimum pay

A--ramiﬁh;?aﬂable which can take aj|

Indeci ;

possible values gver an interval i

called 3 ¢ iscrete random varia ble,
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Q.P. Code :00887

ix) Sub-d.i'.ridr%d bar diagram is 3 two {j.‘rnensfana.‘ diagram,
]

X The class mark of a ¢i5 S5 Interval is ~ (lower limit + Upper limit),
Q.2 Attempt either A or g
Q.2A)
P} Drawa % than ogive fﬂﬁi%ﬂﬂ_%m_ﬂ_ e
| Marks . NElD | 10-2p | 20-3g | 30-40 [ 40-50 | 2U-60 50-70 | 70-80
—-—._—-—-_.__.—r—-___,——-_ —+_ —— — —-—-_.__-—._-;_'—-—._._--—-_._ e — — " __I.___._ S
| No, fo Iu' 4 ' 6 ' 10 fl 15 | 25 [ €2 | 11 I 7
fa’ | I f
il SoCTEIE o -9 | ¥ S, I S L A—
Hence fing i} Median Marks i) Ng_ of studengs SECUFING Marks above 60

9 The mean of 10 ﬂbsewatiﬂns was found the Gb&E‘H’&ﬂDﬂ-S 24 and

Q.2 B)p) if the median for the f 3, 1 e missin frequenr:p‘
[ e 1O The ) e 22 TGty —21g Treque e

T | A030 poae ) I za== | 5060
Interval | |' ' | .'
| —— e T— —— ——__[—h__—h___ — B T T — — =
L Frequeney |35 9 i Ny 20 ]
Q.2 gJi Cé .‘rr{._r_!a:etrjg- Mode fr:r_tfm_fofra_uir{_nga::l_.ata. ks - - i B
[ Month, 20-30  [\@3p.4p ) WSO R TEpEs [ PRI T 80-9p
| Wagzes(in

il _hun dreds) |

| |
| f .
f I | | [
| I"JD.E‘F__ i _.23 . . S | 45 ! Ve i r A
| f

S A Q] 3
{ A . |

LEmblovess | N 5T ._x_h__é___ﬁ__ﬁ;__ﬁ__m_g_%_ =
- Tha average salary of 120 employees i a facto, is BS.12000 14

Q.3 Attempt sither Aorg
Q.3 A)

o) I__Ca levlate mean deviation from mean and jt

: e LY . — |
BN Ay s Nl g W = Ry o BN
OoRrR

Q.38)
P} Find'in which of ¢

he -ﬁjHa_wing_suhjects, t_herel's more L.fariai.l:ng in marks.( yse caefﬁcient__of Variation) (10
Subject. T 577155 ’I a8 3T 5 19T 5 | 5 |58
| |
A |

| |I
| Subject 21

Q&L_._L_____L____f £ | 1T
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a)  For a bivariate distribution, the following results are obtained: (05]
Mean value of X = 65, mean value of y = 53
Standard deviation of x =4.7, standard deviation of y = 5.2
Correlation coefficient = 0.78
Obtain the regression equation of x on y and hence obtain the most prohable value of x wheny =
Q.4 Attempt either Aor B
. Q4A)
p}  The following table represents assets of 3 multi-national company in crores'of Bs. Fit a straightline trend to (07)
the data and hence estimate the figures for the year 2008, _—
Year 2000 | 2002 2003 2004 2005 | 2006
Assets 83 ] 92 71 90 $10 | 1y 18
g)  Calculate Dorbish Bowley's and Marshall Edgeworth’s:index number for the following data. [(08)
Commodity Base year = Current year
Price Ci-uanﬁty Price Quantity
A 6 50 9 ‘T
B 2 e 3 R -
C i 60 B x E
D 10 30 14 25
OR
0.4 B)
pooil Calculate five yearly moving averages for the fellowing data. (04}
Year 1996 | 1997.] 1868 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005 |
Sales | 51 | 53 50 o | 57 60 55 59 62 68 70
p i)  Calculate the real income for the follu Wing data, (03}
& Year Ay BEGHY 2002 2003 | 2004 2005
tncome (inR&) - | 7000 3000 9000 10000 12000
__ Index 0. N 130 140 150 L 160
Q.4 q}f}_ Ea!cu!ate th&ﬁﬂa‘&afh\ﬁmg index number for the foliowing data. (04]
- Group Index number Weights !
L. Food 360 48 |
" Fueland lighting 220 12 |
cleth@ 230 g
Rent 160 12
Miscellansous 180 B 5 1_5 o |

EE3536ATBYB3BAUDA6A3TSTOAN872759
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Q.4 q)ii) For the following data, calculate the index number by the following methods,

Q.5

pl

Q.5 q)i)

Q.5 qlii

Qss)’
i
el
L)

3] Weighted ave

rage of price relatives method

b} Weighted aggregate method,

Commaodity Base year price(in Rs) Current year price {In Weights
o _ Rs)
A | 8 e 5 30
) I 5 T 40 ]
| c | 5 sl 10 ]
B} 2 3 20

Attempt either A or B

For the following conditional pay off table, selectthe best decision using EMV and EOL criteria .

Event’
: Action N ¥ ] S; 5 -
A 80 60 110

l A; 40 0 O e =]
| Ay 100 . | 20 ) -
2 Probability 0.3 | 92 0.5
Arandom variable X has the fo!!glwing:;jrgba'ijj“t\f distribution i

X | = i -1 ' 0 | 1 2 3 |

P=x) | _oame | K 02/ | 2 T

Find the value ofk and hence find E(X)and V(X)
From pastexperienceit is known that A can solve 3 examples out of given 5 and B can solve 4 examples  ({
out of given 7. An example is given to both of them to solve independently: find the prebability that
a) The example remains unsolved.
b} The example is solved

OR

Weite short notes on (attempt any three)

Funetions of statistics

« Merits and Demerits of mean

Absglute and relative measures of Dispersion
Requisites of a good questionnaire.
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